False asymmetry from wrap around neutrons




UD raw asymmetry : SF On vs Off on dropped pulses
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UD raw asymmetry : SF On vs Off on dropped pulses

(Front Layers)
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UD raw asymmetry : SF On vs Off on dropped
pulses(Back Layers)
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Amplifying the signals and asymmetry for better insight

To get better insight of wrap around we amplify everything
as follows:

Divide the entire data set in 600 pulse sequences.

There will be only one dropped pulse in the sequence
which is at the beginning of each sequence.

Integrate over same time bins of all pulses for each 600
sequence over the entire data set.

Do it separately for SF off and on state for dropped pulses.



The amplified data structure
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Yield for Dropped Pulses
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Yield for dropped pulses for DAQ21
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Yield for dropped pulses for DAQ24
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L O W O SF off on dropped pulses
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L O W O SF ON on dropped pulses
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UD raw asym :SF on vs Off
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SF on vs Off

UD raw asym

4

asym[1][][O][O][]:Iteration$/49 {lteration$>800 && lteration$<3200}

.. --lf

. a b
...“.“.....,.....w

Al €7 LA
P L y
e --.- e 2 LT "
e . .__.._....r‘..;_u_._,_.. ,.,.w” .__..-____._.. 1
- b | T rEN " b
’ .uu....___nﬂ__amh Q.M‘ .
--I_.-I-- ._. b “- LI
PR
R f P T
) u..“..ﬁ.w_ L A
LH Mkl ]
] ., -ﬂm-" n .ﬂ*h.w..... I-_-.._. 4“._- _.- )
.... a ] L
= -“ --ﬁ 1..1.»4 L --h LI
- : oL " "
" “w 3 =3 h-ﬁﬂ-.-i” bl
Py - e h-”#l- *
"a o fuk "
.t A . .
-lnin Tﬁ. . &- =

w =
—l o

(loJlo][T]wAse

o

n
1

60

50

40

30

20

Iteration$/49



asym[1][1[0][0][}

20

15

10
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UD raw asym :SF on vs Off (on left its out of scale)
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Beam (M1) asym: SF on vs off
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